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1. BRI REAR S EAFH, BERLTRFOMEH;
2. THRALFHEFRIRR:

3. THREMLFHIERATNFIN— B,

4. ABREREE BB

5. HiR LA E TR H AR B RS T ERA X

[ AfgE]
1. (B&)
2. (&)
%

n(NaOH ) = 0.010 kg —x 1000 g

(23.0 +16.0 =1.00)g.mol ~ lkg
n(]_caz+)=I 0.100 kg . 1000 g
2 Ex 40 .08 g.mol -1 Lig
= 4.99 mol
0.100 kg , 1000 g

1
n(-2—N02C03) =%

2% (2%22.99 +12.01 +3x16.00) g.mol -1 Mg

=1.98mol
4. n(zncl )= i = 2.57 mol
. (65.39 + 2 x 35.45 ) g.mol .
(Y ym 22 OO WO L 5 ol L7
739 .5mL 1L :
By y= 2o 0 VOO E 5 5€ mol e
650 g lkg
5. C(K+)=20x10'gx 1000 mL 1000 mmol

X
39.1g.mol 100 L x1L 1mol
=5.1mmol .L

366 x10 g . 1000 ml___ 1000 mmol
35.45g.mol ' 100 Lx1L 1mol

=103 mmol .L™"

c(Cl™) =

303002



6. &ﬁmﬁzéﬁ/kmﬁ]ﬁﬁ (C6H1206 . HZO) mg,
p(CH,,0,.H,0) =

(6x12.0+12x1.01 +6x16.0) 1 y
m x X =50.0g.L
(6x12.0 +12x1.01 +6x16.0+2x1.01+16.0)  0.500
m=27.5
o(C,H ,0,) = 3008 — = 0.278mol L
(6x12.0 +12x1.01 + 6x 16.0)g.mol
278mol
x(C H,0,) = 0.278mo — =0.00526
0.28mol + (1000 - 50)g /[(2x1.01 +16.0)g.mol ™ ]
7 (23.0+35.5) 1
V(NaCl) =5.0g x 2ot 22208 —=14L
23.0g 9.0g.L
8 10KI+2KMnO, +8H" =12K* +2MnO, + 51, + 4H,0
(KT + L kMn0,) = n(t 1) = 1 0.508g = 0.004mol
3 2 5 (2x1269)gmol”
Exercises

1.Milliliter is a non-SI unit.

2.A marble would take ‘a hexagonal area of i/gcmz when stacked tightly together, and
g ghtly tog

each layer of marbles would be \/gcm deep. Therefore the deep of Imole of marbles covering

our land would be:

6.02 x 102 mol ™ x 1mol x 2+/3cm? x(] e

2
—)"x
xloscm)

1 lkm
S —. \/gcmx — )=3.8x10%m
9.6x10%km? (]xloscm)
3. n(NH,Cl) = 8.50g _
(14.01+4x1.008 +35.45)g.mol
0.159mol y 1000g
100.0g -8.50g  lkg
x(NH,Cl) = O L30mol — =0.0304
0.159mol +(100.0-8.50)g /(18.02g.mol™")
0.159mol 1000m!

X
100.0g /(1.024g.ml™") 1L

=0.159mol

b(NH ,Cl)= =1.74mol kg™

c¢(NH,Cl) = =1.63mol.L™

4. m(C,Hy)=0.43mol x44.0g.mol™' =19g
m(C,H,,)=58g-19g =39¢g



5. ()n(KA4I(SO,),.12H,0)
118.6x107% g 5

o [39.098 +26.982 + 2 x (32.065 +4x15.999) + 12x (2x 10079 +1 5.999)}g.mol ™
=2.500%x10"* mol
2.500x107* mol

c(KAI(SO,),) = T 2.500x 107 mol L™
2)e(S0,%) =2x2.500%10™* mol = 5.000x 10~ mol.L™
-4
(3)B(KAI(SO,),) = 2.500x 107" mol x1000g

1.000x103mLxl.00g.mol" -118.6x107%g  lkg

=2.500x10"*mol kg™
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1. THRWWRIZSE FRR, %32 Raoult EF

2. THBEIR, ABBERBEANBERENEZMN, FREZEFENIE, ¥EBE
FERIEE; %48 van’ t Hoff low;

3. MBBEBERAEY EMERTR, BEBEY RS EEREHOHEIRE: THA
A 3R R A2 18 TR R IB 35 IR R R R N K B P I 4E R 1

[ %47 ]
Pl S R R KSR A 52 100.39° )7 18°¢ \101kPa I, # 3.00L
7S e HE T IR DB T E 2 DK ? (18°¢ BE/KIMBRIZER RN 2.06kPa),
fi#:
| B KASETmMAAER, rEKmg
M, P*

AT, = Kyb,, AP = =4 x b,
* =

apo MiP* AT, 180x2.06x(10039-100.00) (0.,
1000 ~ K, - 1000x0.512

P=P*-AP =2.06-0.028 = 2.03kPa
18°c N, V(H,0)=2.03x3.00/101=0.0603L
FEARAEIRIL K, ¥, =0.0603x 273/291=0.0566L
m =18.0x0.0566/22.4 = 0.0455g

[ 3 AmE]
I. p°=2.34Pa, M(H,0)=18.02g.mol ™", M (F¥E) = 342 g.mol™'
VNGOlS -

n(H,0) B 100g/18.02g.mol™"
n(H,0)+n(FERE)  100g/18.02g.mol™ +10g/342g.mol™
p=p°x, =234x0.9947 = 2.33kPa

- x(H,0)= =0.9947

-4 -



2.
(n, =—29%8___ 0.004912mo1, n, =—28___ 0.003551mol
342g.mol™ 690g.mol

b, = 0.004912mol " 1000g = 0.2456molkg""

20g lkg
. /

By = 0.003551mol . 1000g = 0.1676mol kg"

20g lkg

VO Z VSR R/, MRV R B
(2) ZEFAART, WP RATHE R, YRR ZIERERS, W
RN 18 RO BERAE AT, SO i Z I A
L (3) BHZAREE B BRI N g 25T RS A T
bp=b,

0.004912mol _ 0.003551mol
(20+x)g (20-x)g

x=3.22
3\
ATb =(100.51+273.16)K —(100.00 + 273.16)K =0.51K
by = L. 9.a1% —=0.9961mol kg™
Kb  0.512K.kg.mol
M, = 2.80g_| X e 28.1g.mol™'
0.9961mol.kg™ x100g  lkg
i | |
ATf = Kfb, =1.86K kg.mol™ x0.9961mol kg™ =1.85K
Tf =-1.85°C .
4. ATh=Tb-T,'=0.17K
b, = =L Llied —=0.332mol kg™
Kb 0.512K.kg.mol
538x 8

1000mg . 1000g

M, = = =162g.mol™
0.332mol kg™ x10.0g  lkg
el TR M CiHiNe
5\
5 Y. = AO —=0.318mol kg™
Kf  5.10K.kg.mol
el x L 255g.mol™!

M,= -
0.318mol kg™ x40.0g  lkg
BRI B R i el 8l SR T4 A



6. X TR UARRAHAAT, = K b, , XITURRRRANT, <k b, » SRR
R HOBE A 4 PRSI A

T M TFAMRTRRAT T = c, RT X T AT T = ic, RT . ok FIVR I
B KN 12 -
NaCI>Na,CO3;>Na3;PO,>CsH,,0¢

8. HIT NaCl fEHW P 2 A5 :

2b, = ATf = B25K, — = 0.14mol kg™
Kf 1.86K.kg.mol
=140mmol kg™

BT AR AR W ZE V8B R T 140mmol. L

9\

R L 0J1TkFa = 2.89x10 mol.L”
RT 8.314kPa.L.mol™ K™ x298K
R 200 X ol =6.92x10*g.mol™

T 2.89x10 " mol.L" x100L 1L

10, #3% AT = K b,
TH/K KB EWREE J 280mmol. L'

B 0.52K
IT=0.28mol kg™ x8.314kPa.L.mol ™" x (273 +37)K = 722KPa
11, HHE b (JRF) =b GEAR LR D)

=0.28mol kg™

1.50g/60.05g.mol”" 42.8g/M,

200¢g 1000g
M, =342g.mol™
Exercises
I. (a)
C(NaCl) = 21.0g/58.5g.mol™ . 1000mL _ p——
135mL
ATf = Kfb, ~ Kfc, =1.86K kg.mol ™ x 2.659molkg™ =4.95K
Tf =-4.95°C
ATb = K,b, ~0.512K.kg.mol™ x2.659mol kg™ =1.36K
Tb =101.36°C



)
15.4g/60.0g.mol™" . 1000mL

¢(CON,0,) = = 3.848mol.L"
66.7mL 1L
ATf = Kfb, ~ Kfc, =1.86K kg.mol x3.848molkg™ =7.16K
Tf = -7.16°C
ATb = Kbb, ~ Kbc, = 0.512K kg.mol™ x3.848molkg™ =1.970K
Tb =101.97°C
2\
30.0amx L L8 _ 360kba
latm
¢(H,NCONH ) = = = e =1.23mol.L"
RT  8314kPa.L.K " mol™ x298K
gl VBE ot
Kf 5.10K.kg.mol

7.85g 1000g
M, = = X
0.206molkg™ x301g  lkg

3. Since the formula mass of CsHj is 64g.mol'I and the molar mass is found to be

=127g.mol™

127g.mol",the molecular formula of the compound is C,oHs.
4. i
M (EG)=62.01g.mol™
651g/62.01g.mol™ " 1000g
2505g lkg
ATf =1.86K .kg.mol™ x4.19mol kg™ =7.79K
ATb = 0.512K kg.mol™ x4.19mol kg™ = 2.15K

b(EG) = =4.19mol kg™

Because the solution will boil at 102.2 °C ,it would be preferable to leave the antifreeze in
your car radiator in summer to prevent the solution from boiling.

5, IOl 101.3kPa

c(Hb) = = = 760mmHg __ _ 5 3810 mol.L”
RT ~ 8.314kPa.L.mol™ K™ x298K

B 35.0g
5.38x10™*mol. L™ x 1L

M (Hb) =6.51x10* g.mol™

6.

-1
e(NaCl) = 0.86gx1.005g.mL - 1000mL

58.5g.mol™ x100g 1L
1 =ic,RT =2x0.148mol.L"' x8.314kPa.L.mol™" x (273 +37)K = 763kPa

=0.148mol.L"
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[AF4%71]
—. HIBE (RHOIT , BREOITXO
CETZEEASER, SERFRE FZBOEAEATANERE. W
2. RVSRAIGARAUR 557 HOBAH L 100g KSR, MRS AL AL
I ap. ATb. ATf. T¥IHERL. (X)

3\cuwa)c(CH&U,&WWRE¥,Wﬁﬁﬁméﬁﬁﬁﬁ@°06

os

4. 0.2mol.L” 1 NaCl ¥ HIBIEIE 175 T 0.2mol.L” & BEw s B 1. OO
>Q\%@%mum@m%ﬁﬂé(ﬁﬁm$&mxﬁﬁ%ﬁﬁﬁ%%%%%%%WO
(

N 6. HIRIEA R AR AR RO BRI, K5 F MIBIBIE 11 /M —T7 9%
BIEH KM — 71855 &zi
7+ HIKBIHA 0°C Ryshkeh, WFCHLHIK vb& -70 *7wxﬁ

T BEE FEE—ANERERNFS KA =lo
RS @®0.100mol.kg” ) CgH206 -~ '@ 0.100mol.kg” ) Nall. @
0.100mol.kg'Na,SO,. AAFNRMAEF, ZKReE KE/NATFLE D

A@>D>® B. @@ C. @G>0 @20 /OO

< FHULAH BRI ORI, MR AL R AEBERE ()

WS%H‘JgCéHl:Os H’éﬁﬁ 2%&9 NaCl K /&\-ﬁ‘q

0. 080mol kg-l f] CeH 206

.lo

0.050mol.kg™ fIEERE

D. 0.0SOmrl.kg'l (1 MgSO, |31

0.050mol.kg™ ffJ CaCl,
0-(§"

E.0.90% NaClH::ﬁHﬁ[ 2%f¥] NaCl

\7 LM R IR AR R A ZRVUR PSR B R R G &

€ )
AR AR ‘kﬂﬁmm& c@ﬁ%ﬁﬁ
D S 37 AR VA o SR 2 E.LA B AR

544‘ 50g KF#MF 0.5g TEHMRR, 101.3kPa Bf, WS ZA M AIEEH A 4-031°C . /K
=1.86K kg.mol™, WIgtARLARFRAOARXT 4> £ RN ()

A.60 B30  CS56 D. 28 E.280
e



Cj\&ﬁﬁmmwﬁ%ﬁaﬁmﬁﬁﬁ¥ﬁﬁ,%ﬁﬁ%wiﬁ&%( )
AR ARG BT CBIEIES)
QR E.BL LA E
6+ HX AR FIR B IR AR A LR R 2R 189 Fﬁﬁ%ﬁ(AB$mE$$mﬂUﬁ_
FHATRET) ()

AJRERRREARRF BYRMEREMRE  CREREAR

itk A B
FIERAE LB 0.02mol. L BEMEHFHIAI 0.02mol L™ NaCl % BIRFFAT, AR RV
-~ FRARANRZE (O omequqﬁ”
A FERESN T NBERIVA A NaCl ¥ G2E  B.Na' M NaCl ¥l A BRI S &
AN NC BB EIRRISE  DUABE
B /KA BB ) NaCl 7S

8. HFHREF, FORHTEEREHBANE ( ol
) l> \@ P ﬁ/f

A.0.2mol.L’ #ﬂﬁ(c.%’zon)ﬁw& B.50g.L° %mﬁﬁ(rvir—lso%;& \[dzﬂih/k Oﬁl
)

D.0. 2mobL" FLER(C3HSO MR E.0.01mol.L"'CaCl, ##ig.dY.
é_ 9. %@ﬁ%@kiﬁT%&%%ﬁﬁ&% j‘ \\\ ke
I{?\ ¢ AlgL'NaCl¥## B.12.5g.L NaH%O;iﬁﬂzi C2g.L"! ?Lﬁﬁm(cs )%@z

D. 0. S 'CaCl, ¥ Ettﬂi**xk‘f *“14:% Et’J/KH"J{Eéﬁ#&/\V\
féL> 10, Aﬁ@ﬁﬁtiﬁ,ﬁ%l%ﬁﬁ¢% / 5k |
~ gL NaCl W B.SOg.L R AR C. 100g.L’ ﬁ#ﬁi#ﬁﬁ&

Dttiém/ e RIKUK IR S0\ A E.90g L'NaCl # i } &b
" Q « FEHIRAORE ARG, FHIRER nd PREEEII B 2O BRACBURE,  (EBRIA AOHT H R

() .
¢/ B/ . CH D, * E. 4L EL AL R 51 IR

)(12‘ ¥ 0.542g #1 HgClL(Mr=271.5)#R4E 50.0g /K, W FEEH & h-0.0744°C ,
Ke=1.86K.kg.mol™,1 PE/K i) HeCl, BB I IBL A ()
A.l B.2 C3 D.4 E.5

-

13,4 0.243g #5457 1 Px[Ar(P)=31.00]& T 100.0g #(T=5.50°C K=5.10K kg.mol "),
73 LRI N 5.40°C , x N ()

Al B2 C3 D.4 E.5

=, HEE

. AR mmmmuuﬁiﬂ e hy Jépﬁ;«&
2. B AL ma.ltlm?ifﬁlﬂ Ria. &l




. p)
5, s nraxneAEEIE 2 REKE . kmwss
m&i‘&ﬂ Al VY

4. HHEFEFERK A, B BIMMERE R AR AR 53 AW TKBCR 1L B8
s KT B WA YRR R B
. Wy,

ER—RE R, WS A FBRK
VIR AR 4 F i e
5‘mgﬁmNmaMMﬁm%mméﬁmﬁwgqywmmukﬁﬂ%&ﬂﬁﬁ*
R B .
. itHEE 4
« IR B RIA TP R 5T F NH,CI(Mr=53.48), 2.4 4 20.00mL —3%, X4
omm@mmhﬁﬁﬁﬁﬂ%%ﬁ%ﬁﬁ&&ﬁﬁﬁM%ﬁmﬁ ELCH P A 4T
Syt ? C'/- "5 >o\§., &9(%"3)(\"6‘,
v le&) %MJ’ (S : 6}
2. %R 0.1130g BT 19.0 HOEER ST 0.245°C , K biamih ronfsr+
LB AR . G K=5.10K.kg.mol ™, BERIARRS B F N 30.97)
3. 100g EEASFHAWET 1L Kb BT RS HIR A BAE 27°C B BB R 5 b
0.432kPa, THHILE S LS YIMIAEXT 5 Fikt.

W

AEE3

ZEER
—. AW
1\ \/ 2\ ‘/ 3\ x 4\ x g 6\ x 7\ x _‘8\ J 9\ ’/ IO\IX
=, &HE

1.B:2.B 3.D 4.A 5.C 6.E T+ E 8 D 9.C 10D 113 C
12. A 13.D '
= mEE
L AR AR
2. WBRZGRE NI WhaFtm: BN RIS RRIEIER
3. AL VERE: HRPTIU AT RRR PR A FEORE: WA A G ARV

) R
4. T
5. 238.1; ¥l
. EE
I\ o(NH,Cl)= Ay — = 0.1496mol.L"
0.0200L x 53.48g.mol
¢,,(NH ,Cl) = 0.1496mol.L™" x 2x1000mmol.mol ' = 299.2mmol L'

CLHHRAT L s



2

m.1000

M, m, v

_ K ,.1000.m, 2 5.10K .kg.mol™ x0.1130g x 1000g.kg ™
m, AT, 0.245K x19.04g

BEF HARRT 2 U M123.5

gL, fasﬁaccpﬁmﬁ%wh%:ssm

I';V=nRT=;nl” RT E‘MT %W(fa &;z/m,

B

AT, =K b, =K,.

=123.5g.mol™

B

_m,RT _10.0gx8.31kPa.LK ™ .mol™ x(273+27)K
v 0.432kPax1.00L
EE S FHERARX G F R RS.77x10%.

M

=5.77x10%(g.mol™)

=11 2



S Y570 Clen > ¥k, 03
* g% H)= Joke

ST Y T Y ST
‘ (452 kodeobag . Mo =gl

PAE MR R P B P A R A R AR TR IR B S R RV R pH FRITHET (LA
—TCESRRERES N ). FEARXER IR AR B UTIE -V AR T4 . R BERRAIN . YRR SR AR

_Aa-&lﬂ AR, RATULRE-F-TE R RIS T szH’JIEi
e w1 |4 ‘s{_Am “1_5 ]gz LA’TIL W"‘ J
#l1 SaXE—BR HAFI’JKFZ 0x10*

(DiRHHE c(HA)=0.20mol » L ¥ pH

@) _ER R P IS ARSI NH; » H,O ##M pH S T2 40?2 B4IK,

(NH; * H,0)=1.79X 107

B (DA K, Fl c(HA)RISAF BT 40, H — eSS B AE LA sk v 51 [H], 3K pH . %
HA ##B I NH; *H,0 P38 & R A2 RN, FLE U pH K/ T IR Y R 3 P P03 o

" )—-= 020 > 500 U‘\.X ka-Ca - KezloC

k, 2.0x

a

[H* 1= Je(HAYk, =/0.20%2.0x10™ =6.32x107 mol

pH=2.20
(2) HA + NH; * H,0=NH,A + H,0 . . \/o) o
())5\ R SR R ST NHLA ST R Q‘\’“‘%’

=—-(pK +pK)) —[ lg K, (HA) +(-1g

Lolan= >

K (NHS))] 0

i 2 ~ L[] A 0.01mol = L™ [CITHI% T 0 AgNO; ¥ ¥R R
B

FROGUIE? 2458 MBS 1 RIFF LG LR I IS R A8 — R BRI £ /00 (2 AR

254k) '

~ HT (DH Kep(ACDAI Ksp(A )T HTLL ALCLL Al FFERTTHER, FEW

WM@%T%%T (2) 2458 _Fh S RIFF d i e B, B R s B ST U

(477 00Tmo

@
- ] D



R B L [Ay PEFISE _Fh B 1 UTIE I MWK BE (X 2 AR 9 R B BT 45, B S T o B L i T
5B — RS IR ~
B Ksp(ALCH=1.77X10""  Kgp(AgD)=8.51X10"
A c1 FFUETTIERT BTG ) Ay B AR
[A, 1=K sp(ACD/[CI=1.77X 10"/ 0.01=1.77 X 10®(mol « L)
A FFEETTIEET BT T 1) Ay B AR EE:
[A; 1=Ksp(AD)/[1]=8.51X 10"/ 0.01=8.51 X 10™*(mol + L™)
TR I, U TBT R I[Ag 1z B i CI F}fF?E”P/J[Ag 120, BT EA Agl ) BS -F FR B ST Ak B FEAR
RS R BT . MIMAMI[AT=1.77X 10%mol « L B, A,Cl FFEAITIE. MR
BPFE R TREEA:
[I1=Ksp(Al)/[Ag1=8.51 X107/ 1.77X 10*=4.81X 10°mol = L
%l 3 % soommol « L' #1500ml ¢(NH; * H,0)=0.2mol » L' {4,
(R AR BT v;:r-’d:ﬂ/t" WL T B0 . QE AR IEMA L b3 NH,Cl A 4
W AI(OH); i ik ? (ﬂmﬁbu)\ﬁcﬁt’éﬁlﬂwmﬁ@&mﬂ%m Ksp(AI(OH)3)=3.70
X10" , Ky(NH; * H0)=1.75X 107, M(NH,C)=53.5).
B (OSSR R A R BM[AP TRI[OH ], L X R I —TTI5 M (NH; -H,0)
H’J""Tﬂ:ﬁ'ﬁ YRR UI[OH], RJGH IP=[AP)[OHT KL B F, L K, b, HIkrH LT
A K. QIEiET c(NH; » HO)FI[NH, [R5 [OH], iX/NOH ]M\ 5 /DT AI(OH); TTIRET

FEMI[OH . 7 \ ]’P>l<<?

B OO TEREER cKy>>20K, ¢/K,>500

. ey AR

A

[OH ] =\[K,c(NH,) =1.73x 10" x0.1 = 1.32x 10> (mol =L’
= p= b ¥BA
1P =far Jlon J'="Zx(1. 32x10" )" = 2. 32x 10° "X, PREI\:
2 (o
e, > LY < krv”t’ *
A UL A A ¢ o
@) BHTTURRFM,BIA x 78 NHCLW /vy = 55

53.5g-mol”' xIL
TFTE AI(OH); TLig s, W)

[OH ] < / ,/3370;1’0 = 3.33x70° (mol =LY

[NH:]=th(NH_, HO) _175%10° %01 _, oo mol - L
A [OH" ] 3.33x10°
x=0.0526mol + L' X 1L X 53.5g * mol'=2.81g ,M:,] W’n
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1. ) Fﬁﬁiﬁﬁ‘ﬁ:
1 =icRT=2X0.0050mol * L™ X 8.314J *+ K™ « mol" X 298K X 1000kPa = L « J!
=25kPa
(2 M5

n °= icRT=2X0.0050mol * L"' X 0.92X8.314J « K * mol" X 298K X 1000kPa « L™ » J'
=23kPa
2. B  HO H;0" H,CO; HCO;y  NH;" NH;'CH,COO" H,S HS
JLBiB,  OH  H,0 HCO;y COs™ NH; NH,CH,COO" HS §*
3. Bk H,O NH; HPO,” HAc NH,-[AI(H,0)s(OH)]** CO;> NH;"CH,COO
LB H;0© NH;" H,PO, HAc™ NH-[AI(H,0)s]’*  HCO; NH;'CH,COOH
4. (1) # c(H3P0O4)=0.10mol = L™ W¥EH & B 1 IR B K B/ IB A -
BT H H,PO, HPO,” OH" PO
WRE(mol « L)2.4X 107 24X107  62%10%  42x10°  57x10"
H P F(H ORI A A R AR B (PO, IR ) =455
()XB WA cKay > 20K, , H. ¢ > 20Ka,

1 1 X
NaHCO;: - pH=; (pKai+pKay)= 5 (6.37+10.25)=8.31 Zftk

NaH,PO,: pH=% (pKa,+pKay)= % (2.12+7.21)=4.66 EFEME
54(Na Y -FRIS(CHES %t BaSO, 2 #h MM AF A H AR EERE K, {BXF AgCl A2
B AT AT LR B/ o .
6DEFRFI(AGNO;, BT FIBFRN, WL AgCl MIEMRLI/DN: (KNO; Wl T
BV, FE AgCl VAR BRI 1 ORUK, BT R R T IRIC B RHL 0 S Ag”
NAHIRD, AgCl IEIRIE KX KRN
7. [H']=(Kac)’
=(8.91%X10*%0.10)"
=9.44 X 10" mol = L™

Ka:=1. 12X 10 "
[S°1~1.12X10" mol = L'

8. (%)

[NO;[HCN] _ K,(HNO,)  4.6x10™

- =9.33x10°
[HNO,J[CN"]1 K,(HCN) 4.93x107"°

9. (1)K =

-14-



